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Math 1050, Quiz #1, N a m e

Instruct ions: Show al l
keys pressed to show

l f  you are using your calculator to solve, may sketch a graph or indicate
Exact values: do not use decimals in answers unless the problem

to round. All  answers should br:begins with decimals, o a word problem, or unless specif ical ly aske
fu l ly reduced for ful l i t .  Draw diagrams to help organize the data this is worth part ial credit).  l f  you
do your work on scrap , you should indicate that directly on the paper along with your f inal
answer. l t  is preferable, you can, to do work direct ly on the quiz.

L .  What  i s  the  lea common denominato r tor Tand u?

2 .e  3 .2 .2

L C D  =  2 . 3 . 5  = 3 o

\s
3o

2 .  A d d ;  +

s
{

3 0  1

3. simplify (# 
=;

g
30

a
3o

u + I
4 = 3

t_b_^ .L _ I6  6  
_ lE

3

3t-
+

+=[a-t
I

4. Write 0.275 as a Fully reduce it .
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